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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 A& ™3| 63,176 66,500 N3,324
OsXM & EA2EL ME 40,613,000 40,613
SHES KRN0 SESEH MEME
22,563,000 22,563
NEL BHEMN AL 17,148 18,050 AN 902
207 A3 IH | 17,148 18,050 AN 902
03 A& 32| 17,148 18,050 A 902
OFZEYHE S BdEYN ZHANSY S MESH|
17,148,000 17,148
AR HBE AIEE2 H ESLY 50,671 49,075 1,596
101 Q124 H| 43,000 41,000 2,000
04 JI2ZtHIZ22NEE S 43,000 41,000 2,000
OAlEE2 H A& XA 43,000,000 43,000
207 I & 7,671 8,075 N404
03 A& o 32H| 7,671 8,075 N404
OsXM S AMEME 7,671,000 7,671
KAAE L ASZSMAH| X (HSHP) 62,039 62,039 0
= 62,039
101 e1214| 41,400 41,000 400
= 41,400
04 JI2ZtHIZ22NEES 41,400 41,000 400
OIS MALE 2e| 41,400,000 41,400
= 41,400
206 M = Hl 20,639 21,039 A 400
= 20,639
01 X2 Hl 20,639 21,039 A 400
OJJIE MAMTHZ 20,639,000 20,639
= 20,639
gAE HMA SHA )= e 113,960 114,200 A 240
101 e1214| 63,420 61,000 2,420
04 JIZtHI22NSESES 63,420 61,000 2,420
O 2] & AIE XA 63,420,000 63,420
207 SO0 50,540 53,200 AN 2,660
03 A& A 32H| 50,540 53,200 N2,660
ONEX AE sXM Y Al 50,540,000 50,540
HA MES 4 Y MU= e 73,789 75,958 N2,169
101 Q124 H] 21,579 21,000 579
04 JI2ZtHIZ22NEE S 21,579 21,000 579
OasAal 2 THHEAF 22l 21,579,000 21,579
207 I & d| 52,210 54,958 A2,748
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U2 AFE S0 MEidl= Heg 2,162,485 1,611,415 551,070
= 558,525
< 1,603,960
AQLEE YOOIH &8 Jls HY 126,574 123,300 3,274
101 @124 dl 95,889 91,000 4,889
4 DIt Z2XREES 95,889 91,000 4,889
OACGLEE =00 XA 95,889, 000 95,889
207 A RO 30,685 32,300 A1,615
03 Al & 12 HI 30,685 32,300 A1,615
OANEAHT = 30,685,000 30,685
=g 200l =8 & Mitd gfah D9 O 326,530 294,050 32,480
= 163,265
< 163,265
101 @144 Hl 269,680 232,000 37,680
= 134,840
< 134,840
04 JIZHHZ22XEES 269,680 232,000 37,680
OSXN=A & XHE=+F 269,680,000 269,680
= 134,840
< 134,840
201 Let2d] 5,000 4,000 1,000
= 2,500
< 2,500
01 At 22l 5,000 4,000 1,000
OYEFT ARES 7Y S 5,000,000 5,000
= 2,500
< 2,500
202 Odl 2,850 6,050 A 3,200
= 1,425
< 1,425
01 = LHA YI 2,850 6,050 A 3,200
OYRFA &3 oHl S 2,850,000 2,850
= 1,425
< 1,425
207 A& H| 13,000 14,000 21,000
= 6,500
< 6,500
03 A& &34l 13,000 14,000 A 1,000
OANEAHT HE 13,000, 000 13,000
= 6,500
< 6,500
301 LA F 36,000 38,000 A 2,000
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OJIEt 2428 7Y S 36,000,000 36,000
2 18,000
< 18,000
SEHY ANER SZANIALAHIE ALY 100,000 100,000 0
= 50,000
< 50,000
101 1A dl 21,580 20,000 1,580
= 10,790
< 10,790
M4 JI2ZHZEXNSES 21,580 20,000 1,580
OJIZtHZ2XH s E= 21,580,000 21,580
= 10,790
= 10,790
201 LBH2EH| 72,420 74,000 A 1,580
= 36,210
< 36,210
01 At 2t 2l 72,420 74,000 A 1,580
OAtE 2teltl 72,420,000 72,420
= 36,210
= 36,210
202 odl 6,000 6,000 0
= 3,000
< 3,000
01 = LH 4 1l 6,000 6,000 0
O=0 bl 6,000,000 6,000
= 3,000
< 3,000
DNEE BAMMIIs HY 327,984 206,238 121,746
101 14 Hl 155,579 130,000 25,579
04 DI Z2XNHEE S 155,579 130,000 25,579
Out=ZH 22| L AT A 134,000, 000 134,000
Olt= stard ol 21,579,000 21,579
207 A RO H| 92,405 76,238 16,167
03 A& &2l 92,405 76,238 16, 167
OANEHT = 72,426,000 72,426
Otz shag olg R 2el MedlE
19,979,000 19,979
401 Al& I 28I 80,000 0 80,000
01 A& Bl 80,000 0 80,000
O3 == A4 A 80,000, 000 80,000
IBHE IS MAS H2IE WY 176,521 173,298 3,223
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04 JIZtHZ22 s+ 126,838 121,000 5,838
Ootgiz= ZHael & ASEAM
126,838,000 126,838
207 &A1 JH & H| 49,683 52,298 A2,615
03 A&l & 224l 49,683 52,298 A2,615
OANE&Z ME 49,683,000 49,683
SAN=ge #4535 56,150 54,842 1,308
101 1Al 43,000 41,000 2,000
04 DIt 22 XS+ 43,000 41,000 2,000
OZANsHASEZH2e & ASEA
43,000,000 43,000
207 & 51 OH & H| 13,150 13,842 A692
03 A&l & 24l 13,150 13,842 A692
OAlge ME 13,150,000 13,150
sPHFIS 018 UES s4 523,549 125,788 397,761
101 14l 43,000 41,000 2,000
04 DIt 22 XS+ 43,000 41,000 2,000
OANEZZE & Hed 29 43,000,000 43,000
207 51 OH £ Hl 80,549 84,788 A4,239
03 A&l & 224l 80,549 84,788 N4,239
OXAHHY & AEHR WE 80,549,000 80,549
401 AIEHIZ 2 THYI 400,000 0 400,000
01 A& HI 400,000 0 400,000
O30T Y RAHHAA AL 2=
400,000,000 400,000
dgEcls dHE 8,400 7,913 487
201 ¢er24l 2,400 1,913 487
01 At22t2l bl 2,400 1,913 487
Od2J g2 & |38 29 2,400,000 2,400
301 LEEH S 6,000 6,000 0
12IIEtE 4= 6,000 6,000 0
OSIHHEEXAM 6,000,000 6,000
SHIISEIEANLH 2= 109,767 139,756 N 29,989
201 L Et2A | 89,592 89,592 0
02 32224l 89,592 89,592 0
OANAE Sgacd & dE3HE 89,592,000 89,592
207 &A1 OH & H| 19,475 19,475 0
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02 & A& b 19,475 19,475 0
OZMHOIXl g & 2ors/w 2¢l 19,475,000 19,475
405 XHoHE S HI 700 30,689 A 29,989
02 S A7l 700 689 "
OsgdE 2 W &8 2 700,000 700
SMNEASTAMNESE(Z) 76,060 47,880 28,180
= 76,060
101 el bl 64,400 42,000 22,400
= 64,400
03 BRI (RINHY)2=HES 42,000 42,000 0
OASZALE 238 2 24(32A 2244l)
42,000,000 42,000
= 42,000
04 JIZHHZ2XRHEE S 22,400 0 22,400
OASZTAE 28 2 24JI2HIEX =)
22,400,000 22,400
= 22,400
201 Let24d] 3,600 0 3,600
= 3,600
01 At 22l 3,600 0 3,600
OsdtE ASXZAL E, ML g2t S
3,600,000 3,600
= 3,600
202 odl 8,060 5,880 2,180
= 8,060
01 = LH Yl 8,060 5,880 2,180
Osdtt2 2ASZTAF S2FA 8,060,000 8,060
= 8,060
SMNEASTANEZAE(ANZEA) 133,200 114,600 18,600
= 133,200
308 XXM SO0 A 133,200 114,600 18,600
= 133,200
01 AXNSHHBLEES 133,200 114,600 18,600
SN2 ASTA 248 & 133,200,000 133,200
= 133,200
ANe=sdl=d 23X (Z) 40,000 40,000 0
= 16,000
< 24,000
101 1A dl 40,000 40,000 0
= 16,000
< 24,000
03 2RI (RIAHY)22HES 40,000 40,000 0
O&Es I=z2el BX 40,000,000 40,000
= 16,000
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= 52,000
308 AHAIEHHSOIA 52,000 52,000 0
= 52,000
01 HIXNHHNBHEES 52,000 52,000 0
OXZ=sdll=s 23 XN 52,000,000 52,000
= 52,000
ANe=sglles FESAA(22H) 13,750 13,750 0
= 5,500
=) 8,250
307 21201 A 13,750 13,750 0
- 5,500
=) 8,250
04 QIZFHALAIH E = 13,750 13,750 0
O&Estsgel dAMal 13,750,000 13,750
= 5,500
< 8,250
HEsool YRS AME(T) 33,000 31,500 1,500
= 16,500
< 16,500
201 LEr2A | 21,500 20,000 1,500
= 10,750
= 10,750
01 At 22l bl 21,500 20,000 1,500
OHY Zos AEE 7 U AUBE 29
21,500,000 21,500
= 10,750
< 10,750
202 44l 11,500 11,500 0
= 5,750
< 5,750
01 S LHOYI 11,500 11,500 0
OHG Zols AL SIS =7
11,500,000 11,500
= 5,750
< 5,750
HEsQ0 FYNUCERA ALY (NR) 33,000 31,500 1,500
= 33,000
308 XtXIEHHSOIA 33,000 31,500 1,500
= 33,000
01 AXHHILEES 33,000 31,500 1,500
OFE&EYs ANz &8 A48 X&
33,000,000 33,000
= 33,000
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SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
AMOIHsYQl e-HIXLIA ASEHE N (T) 26,000 30,000 A4 ,000
= 13,000
& 13,000
201 gBt2A | 20,000 20,000 0
= 10,000
= 10,000
01 AP 22| H| 10,000 10,000 0
SLNYRNERE L HUBE 2Y
10,000,000 10,000
= 5,000
& 5,000
03 A2 EH| 10,000 10,000 0
OXFES sgol s L Al 10,000,000 10,000
= 5,000
= 5,000
301 et M= 6,000 10,000 A4 ,000
= 3,000
= 3,000
09 #HAIAHI XIS 2 6,000 10,000 A4 000
O&FEg=sgo g4 AKX 2 6,000,000 6,000
= 3,000
= 3,000
XEtdE =sglls e 895, 185 900, 466 N5,281
SHEAH S dls e 197,887 205,788 ANT7,901
101 e1214| 126,838 121,000 5,838
04 JIZtHI22NEE S 126,838 121,000 5,838
OAESZE Y AgA 2H2 126,838,000 126,838
207 S0 | 71,049 84,788 N 13,739
03 A& A 3H| 71,049 84,788 N 13,739
OEYLHIE AMNEAHAR W2 71,049,000 71,049
A Yol SEacdls Y 119,425 122,205 AN2,780
101 Q21| 42,280 41,000 1,280
04 JIZtHIZ22XNSE S 42,280 41,000 1,280
OAESZE L Aga 2922 42,280,000 42,280
207 & I &y 77,145 81,205 A4 060
03 A& A 2H| 77,145 81,205 N4 ,060
Odel AMgd3 a 77,145,000 77,145
A2 HE SE &Iz e 213,165 217,875 AN4,710
101 Q124 H| 84,559 82,500 2,059
04 JI2ZtHIZ2Z2NEES 84,559 82,500 2,059
OAEZE L AsA 2922 84,559,000 84,559
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207 S0 & 128,606 135,375 ANB,769
03 A& A3 H| 128,606 135,375 NB,769

Otlls & K25 ANgdx2 a2
128,606,000 128,606

ES NMHASE 28 MAMSSH g 149,158 150, 250 A 1,092
101 e1214| 63,420 60,000 3,420
04 J|12ZtHIZ22NEES 63,420 60,000 3,420

OAMEZE & ARA 2H 22| 63,420,000 63,420
207 I & 85,738 90,250 N4, 512
03 AIE A 32| 85,738 90,250 N4, 512
O M2 ZTH2E Y ANEMHE
85,738,000 85,738

AEtd=Y S& AsSs AR 127,035 122,490 4,545
101 Q124 H| 84,559 81,000 3,559
04 JI2ZtHIZ22NEES 84,559 81,000 3,559

OrEHAILE L ASA 2H 22| 84,559,000 84,559
201 2Et2Ay| 3,060 0 3,060
01 AP 22| d| 3,060 0 3,060
OXsd=sgdeNEg g 29 3,060,000 3,060
207 ™I & d 39,416 41,490 N2,074
03 A& A 32H| 39,416 41,490 N2,074
OF&A ANgAHAR M= 39,416,000 39,416

SHNE BIIR &4 Jls e 88,515 81,858 6,657
201 LBt 25,000 25,000 0
02 E2=2=2%H| 25,000 25,000 0

OdzHl &L AEHH KX S 25,000,000 25,000
207 I & 63,515 56,858 6,657
03 A& o 32| 63,515 56,858 6,657
OJIBANE A2 ES 63,515,000 63,515
ANesEI|2 Eds AR T} g 25 1,113,000 0 1,113,000
g 556,500
o= 556,500
NEsHHARI| B Do (M) 557,000 0 557,000
Fag 278,500
o= 278,500
401 Al HI L 2 0HHI 280,000 0 280,000
Fag 140,000
=} 140,000
01 Al& H| 272,216 0 272,216




AN sl Jlsg=
M B3 )= g ¢
==}
=

Sl NYsEIND SoE

SN BA(SA) - MRAY - BES il HImEET
08T A NE B
145,830,000 145,830
s 72,915
< 72,915
OMY =55t A CE PR
126,386,000 126,386
s 63,193
= 63,193
02 Zeltl 5,768 5,768
OM2 ZAHL =23 Ald Ex 22l
3,090, 000 3,090
s 1,545
< 1,545
OMZ =53 NI oA E= 2l
2,678,000 2,678
s 1,339
< 1,339
03 A& S THHI 2,016 2,016
OM2 ZAWY =23 AlE B4 ALY
1,080,000 1,080
s 540
< 540
O =35 AMEHF otRA B AIE2UH
i 936,000 936
s 468
< 468
405 RHoHE S HI 277,000 277,000
s 138,500
< 138,500
01 AL EZFH S 277,000 277,000
Ol A 2 277,000,000 277,000
s 138,500
< 138,500
N s Rt DEsH R 3 556,000 556,000
s 278,000
< 278,000
401 Al HI L 2 THYI 300,000 300,000
s 150,000
< 150,000
01 A& HI 300,000 300,000
O=33% 24 ZIOANE wH SA
230,000, 000 230,000
s 115,000
< 115,000
Ok®: ZIOA4 70,000, 000 70,000
as 35,000
< 35,000
405 XHoHF S HI 256,000 256,000
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SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
Fag 128,000
= 128,000
01 XAt 2 E F S| 256,000 0 256,000
O=3 ol A& s & 2
256,000,000 256,000
g 128,000
= 128,000
SE8)s 40 ¥ - & ol= o Aol , 113,000 2,240,000 A 1,127,000
ot ==
g 556,500
o=} 556,500
NEsdARI| B D3 557,000 1,120,000 A 563,000
Fag 278,500
= 278,500
401 Al HI L £ 0HHI 450,000 800,000 A 350,000
Fag 225,000
=} 225,000
01 Al& H| 440,000 775,000 A 335,000
OADIE QeIak i Y SHEAE A=
440,000,000 440,000
g 220,000
o 220,000
02 2teld| 10,000 20,000 A 10,000
OADIE QoIak Ji =Y SHEAL MFs 2
2l bl 10,000,000 10,000
g 5,000
& 5,000
405 XHo&HF S HI 107,000 320,000 A 213,000
Fag 53,500
= 53,500
01 JMY 2= EF S HI 107,000 320,000 A 213,000
Oolaotx Me| e bl P
107,000,000 107,000
= 53,500
= 53,500
NE=sdARI| D3 (2RI 556,000 , 120,000 A 564,000
Fag 278,000
=} 278,000
401 Al HI L £ 0HHI 400,000 700,000 A 300,000
Fag 200,000
= 200,000
01 Al& H| 381,400 685,510 A 304,110
OlItTesg Aot ol A =
381,400,000 381,400
g 190,700
& 190,700
02 2teld| 15,000 9,660 5,340
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S9l: SEEllE 81 5 HAS SNGE FY 47T S CER-ED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OICTE=8 ~A0IE NEoISX A= Zol|
15,000,000 15,000
Fag 7,500
o=t 7,500
03 AlE 21| 3,600 4,830 AN 1,230
OICTEE2E ALIE AMESIRA Al AIZ20
Hl 3,600,000 3,600
Fag 1,800
& 1,800
405 XHAHF S HI 156,000 420,000 A 264,000
g 78,000
& 78,000
01 AL 2 ZF S| 156,000 420,000 A 264,000
OR84E 24 S2 98 A7z 2
156,000,000 156,000
oy 78,000
& 78,000
HER2IAAH (sII=2 JsHe=2) 175,996 176,802 A 806
J2Z3H(sgll=4 JsHe=2) 175,996 176,802 A 806
JIE2d3H (sYI=d Jse=2) 175,996 176,802 A 806
201 et d| 83,440 83,440 0
01 AP 2t 2| bl 73,440 73,440 0
OJlsig g4 73,440,000 73,440
02 Z2=2=24%4| 10,000 10,000 0
O2232=2 % MM S 10,000,000 10,000
202 044l 73,440 73,440 0
01 2L Y| 73,440 73,440 0]
OJIsgg=x 73,440,000 73,440
203 R F & 19,116 19,922 A 806
01 JI22HYRFAH| 5,940 5,957 A7
O=% 5,940,000 5,940
04 EANSIELRF=XH| 13,176 13,965 AT789
OX=HP2 Y 4,536,000 4,536
O 4,320,000 4,320
OFstd=sg 4,320,000 4,320




